IDE ALEXIUS AZIBANYE
COMPUTER ENGINEERING
1. function [ttyl] =    chokes(t,m) 2 ttyl(1)= -((15/500)*m(1))+ ((5/1000)*m(2))+1;
2. ttyl(2)= ((15/500)*m(1))-((18/1000)*m(2))+ ((3/400)*m(3));
3. ttyl(3)= ((13/1000)*m(2))-((13/400)*m(3));
4. ttyl=ttyl';
5. end

I. commandwindow
II. clear
III. clc
IV. close all
V. width= [0:1:1200];
VI. initial=[0 0 0];
VII. [t,Q]= ode45(@chokes,width,initial);
VIII. figure(1)
IX. subplot(3,1,1)
X. plot(t,Q(:,1),'go-')
XI. xlabel('Time (min)')
XII. ylabel('Volume(litres)')
XIII. HOST('Bank 1', 'Location', 'South')
XIV. grid on
XV. axis tight
XVI. title('Figure 1:Dynamic Responses of the Banks')
XVII. subplot(3,1,2)
XVIII. plot(t,Q(:,2),'b*--')
XIX. xlabel('Time (min)')
XX. ylabel('Volume(litres)')
XXI. HOST('Bank 2',	'Location', 'South')
XXII. grid on
XXIII. axis tight
XXIV. subplot(3,1,3)
XXV. plot(t,Q(:,3),'r+--')
XXVI. xlabel('Time(min)')
XXVII. ylabel('Volume (litres)')
XXVIII. HOST('Bank 3', 'Location', 'South' )
XXIX. grid on
XXX. axis tight
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igure 1:Dynamic Responses of the Tanks
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